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7(.12/2-ø� 

 

 

 
 
 

�ĞŒĞƌůŝ�sĞůŝŵŝǌ͕�������� 
������<ŽĚůĂŵĂ� ǇĂƌĂƨĐůŦŒŦ� ĂƌƨƌĂŶ͕� ŝŶƐĂŶůĂƌŦŶ� ĐŽŒƌĂĮ� ǀĞ� ĮǌŝŬƐĞů�
ƐŦŶŦƌůĂƌŦŶ�ƂƚĞƐŝŶĚĞ�ďĞƌĂďĞƌ�ǀĞ� ŝƔ�ďŝƌůŝŒŝ�ŚąůŝŶĚĞ�ĕĂůŦƔĂďŝůŵĞƐŝŶŝ�ǀĞ�
ŝůĞƟƔŝŵ� ŬƵƌĂďŝůŵĞƐŝŶŝ� ƐĂŒůĂǇĂŶ� ĞǀƌĞŶƐĞů� ďŝƌ� ĚŝůĚŝƌ͘� dĞŬŶŽůŽũŝ�
ŚĂǇĂƨŵŦǌŦŶ� ďŝƌ� ƉĂƌĕĂƐŦ� ŝƐĞ� ŬŽĚůĂŵĂ� ƚĞŬŶŽůŽũŝǇŝ� ďŝǌĞ� ĚĂŚĂ�
ǇĂŬŦŶůĂƔƨƌĂŶ�ĂƌĂĕƨƌ͘ 
 
�������7ŶƐĂŶůĂƌ� ǀĞ� ďŝůŐŝƐĂǇĂƌůĂƌ� ĂƌĂƐŦŶĚĂŬŝ� ŚĞƌ� ĞƚŬŝůĞƔŝŵ� ŬŽĚůĂƌůĂ�
ŐĞƌĕĞŬůĞƔŝƌ͘� WƌŽŐƌĂŵůĂŵĂ� ŚĞƌ� ǇĞƌĚĞĚŝƌ� ǀĞ� ďŝƌďŝƌŝŶĞ� ďĂŒůĂŶƨůŦ�
ĚƺŶǇĂŶŦŶ� ƚĞŵĞůŝŶŝ� ŽůƵƔƚƵƌƵƌ͘� <ŽĚůĂŵĂ� ďƵŐƺŶƺŶ� ŽŬƵƌǇĂǌĂƌůŦŒŦĚŦƌ�
ǀĞ� ƂŒƌĞŶĐŝůĞƌŝŶ� ƉƌŽďůĞŵ� ĕƂǌŵĞ͕� ƚĂŬŦŵ� ĕĂůŦƔŵĂƐŦ� ǀĞ� ĂŶĂůŝƟŬ�
ĚƺƔƺŶŵĞ�Őŝďŝ�Ϯϭ͘ǇǇ�ďĞĐĞƌŝůĞƌŝŶŝ�ŐĞůŝƔƟƌŵĞƐŝŶĞ�ǇĂƌĚŦŵĐŦ�ŽůƵƌ͘ 
 
����������ĂƐŝƚ� ŬŽĚůĂŵĂ� ďĞĐĞƌŝƐŝ� ďŝƌĕŽŬ� ŵĞƐůĞŬ� ŝĕŝŶ� ĚĞ� ŐĞƌĞŬůŝůŝŬƟƌ͘�
ϮϬϮϬ�ǇŦůŦŶĚĂ��ǀƌƵƉĂ͛ĚĂ�ϴϮϱ͘ϬϬϬ��ŝůŝƔŝŵ�dĞŬŶŽůŽũŝůĞƌŝ�ĂĕŦŒŦ�ŽůĂĐĂŒŦ�
ƚĂŚŵŝŶ�ĞĚŝůŵĞŬƚĞĚŝƌ͘;<ĂǇŶĂŬ͗�ŚƩƉƐ͗ͬͬĞĐ͘ĞƵƌŽƉĂ͘ĞƵͿ 

 
 
     ����d����ƚĂŬĞŶƚ�<ŽůĞũŝ�

      �����dĞŬŶŽůŽũŝ��Ƃůƺŵƺ 
͘ 



ødø1'(.ø/(5� 

7(.12/2-ø� � 

.2'/$0$��$QDRNXOX� � 

.2'/$0$������6ÕQÕIODU� � 

.2'/$0$�9(�52%27ø.� 
���YH����6ÕQÕIODU��:('2�6ÕQÕIÕ� � 

.2'/$0$�9(�52%27ø.� 
���YH����6ÕQÕIODU��(9���6ÕQÕIÕ� � 

0$.(5�9(�$5'8ø12 
�������6ÕQÕIODU� �� 

2<81�7$6$5,0�$7g/<(6ø �� 

,,��'g1(0�7(.12/2-ø�2.8//$5,�.856�+$)7$/$5, �� 

02'(/�8d$.�$7g/<(6ø 
�7�P�6ÕQÕIODU� �� 
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7(.12/2-ø� 

 

 

 
 
 

 
,ĞĚĞĮŵŝǌ͗ 
 
PŒƌĞŶĐŝůĞƌŝŵŝǌŝŶ 
 
· �ĞƌƐůĞƌĚĞ� ŬƵůůĂŶĚŦŒŦŵŦǌ� ŵĂƚĞƌǇĂů� ǀĞ� ǇĂǌŦůŦŵůĂƌůĂ� ĚĂŚĂ�

ĚĞƚĂǇůŦ͕� ŝůĞƌŝ� ĚƺǌĞǇ� ĕĂůŦƔŵĂůĂƌ� ǇĂƉĂƌĂŬ� ĚĞƌƐůĞƌĚĞ�
ŬƵůůĂŶŵĂĚŦŒŦŵŦǌ�ŵĂƚĂƌǇĞůůĞƌŝ�ǀĞ�ƵǇŐƵůĂŵĂƌŦ�ŬƵůůĂŶŵĂůĂƌŦŶŦ͕ 

 
· dĞŵĞů� ƉƌŽŐƌĂŵůĂŵĂ� ŵĂŶƨŒŦŶŦ� ΀ƐŦƌĂůĂŵĂ� ;ƐĞƋƵĞŶĐŝŶŐͿ͕�

ĚƂŶŐƺůĞƌ�;ůŽŽƉƐͿ͕�ƔĂƌƚůĂƌ�;ĐŽŶĚŝƟŽŶĂůƐͿ΁ƉĞŬŝƔƟƌŵĞƐŝŶŝ͕ 
 
· �ĂƌŬůĂƌ͕�ĂŬƐůĂƌ͕�ŬĂůĚŦƌĂĕůĂƌ͕�ŵĂŬĂƌĂůĂƌ�ǀĞ�ƚĞŬĞƌůĞŬůĞ�ĨĂƌŬůŦ�ǀĞ�

ĚĂŚĂ�ŬĂƌŵĂƔŦŬ�ŵĞŬĂŶŝŬ�ƚĂƐĂƌŦŵůĂƌ�ƺǌĞƌŝŶĚĞ�ĕĂůŦƔŵĂƐŦŶŦ͕ 
 
· <ĂƌŵĂƔŦŬ�ŬŽĚůĂƌĂ�ƐĂŚŝƉ�ƌŽďŽƚůĂƌ�ƚĂƐĂƌůĂŵĂƐŦŶŦ͕ 
 
· �ůĞŬƚƌŽŶŝŬ�ĚĞǀƌĞ�ŬŽĚůĂŵĂůĂƌŦǇůĂ�ƉƌŽũĞůĞƌ�ŐĞůŝƔƟƌŵĞƐŝŶŝ͕ 
 
· DĂŬĞƌ�;ĚŝǇͿ�ƉƌŽũĞůĞƌŝ�ŝůĞ�ƺƌĞƟŵ�ǇĂƉŵĂƐŦŶŦ�ƐĂŒůĂŵĂŬƨƌ͘ 
 
�����������'ĞůĞĐĞŬ� ŶĞƐŝůůĞƌŝŵŝǌŝŶ� ĞǀƌĞŶƐĞů� ƌĞŬĂďĞƚ� ŐƺĐƺŶƺ� ĂƌƨƌŵĂŬ�
ŝĕŝŶ� dĞĚ� �ƚĂŬĞŶƚ� <ŽůĞũŝ� ŽůĂƌĂŬ� ƂŒƌĞŶĐŝůĞƌŝŵŝǌŝŶ� ŬŽĚůĂŵĂ�
ďĞĐĞƌŝƐŝŶĞ� ƐĂŚŝƉ� ŽůŵĂƐŦŶŦ� ǀĞ� ďƵ� ďĞĐĞƌŝůĞƌŝŶŝ� ĂƌƨƌŵĂůĂƌŦŶŦ�
ĚĞƐƚĞŬůŝǇŽƌƵǌ͘ 
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.2'/$0$��$QDRNXOX�� 

 
���������������������������������������������� 
 
 
 
 

 

 

��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�
z�Z7 

W���Zd�^7 
��Zb�D�� 

ϭϲ͘ϭϱ 
ϭϳ͘ϭϱ ϱ�z�b 

 
�zb�'m>�

'mZ��D�Z 
 

ϭϮ �E�K<h>h 

������<ŽĚůĂŵĂ͖�ďŝůŐŝƐĂǇĂƌ�ǇĂǌŦůŦŵŦ͕�ǁĞď�ƐŝƚĞůĞƌŝ��ǀĞ�ƵǇŐƵůĂŵĂůĂƌ�ŽůƵƔƚƵƌŵĂŬ�ŝĕŝŶ�
ƉƌŽŐƌĂŵůĂƌ�ǇĂǌŵĂŬƨƌ͘ 
 

· �Ƶ�ďĞĐĞƌŝǇŝ�ƂŒƌĞŶŵĞŬ�ŝĕŝŶ�ŬĂĕ�ǇĂƔŦŶĚĂ�ŽůŵĂŶŦǌ��ŐĞƌĞŬŝǇŽƌ͍ 
· �ŶĂŽŬƵůƵŶĚĂŬŝ�ƂŒƌĞŶĐŝůĞƌ� ŬŽĚůĂŵĂ�ŬĂǀƌĂŵůĂƌŦŶŦ� � ŬĂǀƌĂǇĂďŝůŵĞŬƚĞ�ǀĞ�

ďƵ�ŬŽŶƵĚĂ�ĕŽŬ�ǇĂƌĂƌůŦ�ďĞĐĞƌŝůĞƌ��ŐĞůŝƔƟƌĞďŝůŵĞŬƚĞĚŝƌ͘ 
 
 ����PŒƌĞŶĐŝůĞƌŝŵŝǌĞ� ƚƺŵ� ƉƌŽŐƌĂŵůĂŵĂ� ĚŝůůĞƌŝŶŝŶ� ƚĞŵĞůŝŶĚĞ� ŽůĂŶ�
ƐŦƌĂůĂŵĂ͕�ĚƂŶŐƺůĞƌ�ǀĞ�ƔĂƌƚůĂƌ�Őŝďŝ�ƚĞŵĞů�ƉƌŽŐƌĂŵůĂŵĂ��ŬĂǀƌĂŵůĂƌŦŶŦ�ĞŒůĞŶĐĞůŝ�
ĂŬƟǀŝƚĞůĞƌůĞ� ƂŒƌĞƟǇŽƌƵǌ͘� PŒƌĞŶĐŝůĞƌŝŵŝǌ� DĂŬĞƌ� ĞƚŬŝŶůŝŬůĞƌŝ� ŝůĞ� ĚĞ� ŬĞŶĚŝ�
ďĂƔŦŶĂ�ƺƌĞƚŵĞǇĞ�ĂĚŦŵ�ĂƨǇŽƌ͘ 

<ĂǌĂŶŦŵůĂƌ 
-�^ŦƌĂůĂŵĂ�;^ĞƋƵĞŶĐŝŶŐͿ�ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
-��ƂŶŐƺůĞƌ�;>ŽŽƉƐͿ�ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
-�bĂƌƚůĂƌ�;�ŽŶĚŝƟŽŶĂůƐͿ�ŬĂǀƌĂŵŦŶŦŶ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
· �ŶĂŽŬƵůƵ�ďĞĐĞƌŝůĞƌŝŶŝ�ƉĞŬŝƔƟƌŝƌ͘�;zƂŶ�ďƵůŵĂ͕�ƵǌĂŵƐĂůůŦŬ�ǀď͘Ϳ 
 
127���g÷UHQF൴�VD\ÕVÕ�\HWHUV൴]�NDOPDVÕ�GXUXPXQGD�DQDRNXOX�YH���VÕQÕI�
|÷UHQF൴OHU൴�E൴UOHúW൴U൴OHFHNW൴U��øON�|QFH�3D]DUWHV൴�J�Q�QH�ND\ÕW�DOÕQDFDNWÕU� 
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.2'/$0$������6ÕQÕIODU� 

 
���������������������������������������������� 
 
 
 
 

 

 

��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d z�b��'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

3$=$57(6ø 
d$5ù$0%$ 

����� 
����� ��6,1,)/$5 

 
 

$<ù(*h/�
*h5'$0$5 

 
 

�� 
67(0�	�
0$.(5 
678',2 

<ŽĚůĂŵĂ͖� ďŝůŐŝƐĂǇĂƌ� ǇĂǌŦůŦŵŦ͕� ǁĞď� ƐŝƚĞůĞƌŝ� � ǀĞ� ƵǇŐƵůĂŵĂůĂƌ� ŽůƵƔƚƵƌŵĂŬ� ŝĕŝŶ�
ƉƌŽŐƌĂŵůĂƌ�ǇĂǌŵĂŬƨƌ͘ 
 

· �Ƶ�ďĞĐĞƌŝǇŝ�ƂŒƌĞŶŵĞŬ�ŝĕŝŶ�ŬĂĕ�ǇĂƔŦŶĚĂ�ŽůŵĂŶŦǌ��ŐĞƌĞŬŝǇŽƌ͍ 
· �ŶĂŽŬƵůƵŶĚĂŬŝ�ƂŒƌĞŶĐŝůĞƌ�ŬŽĚůĂŵĂ�ŬĂǀƌĂŵůĂƌŦŶŦ� � ŬĂǀƌĂǇĂďŝůŵĞŬƚĞ�ǀĞ�

ďƵ�ŬŽŶƵĚĂ�ĕŽŬ�ǇĂƌĂƌůŦ�ďĞĐĞƌŝůĞƌ��ŐĞůŝƔƟƌĞďŝůŵĞŬƚĞĚŝƌ͘ 
 
PŒƌĞŶĐŝůĞƌŝŵŝǌĞ� ƚƺŵ� ƉƌŽŐƌĂŵůĂŵĂ� ĚŝůůĞƌŝŶŝŶ� ƚĞŵĞůŝŶĚĞ� ŽůĂŶ� ƐŦƌĂůĂŵĂ͕�
ĚƂŶŐƺůĞƌ� ǀĞ� ƔĂƌƚůĂƌ� Őŝďŝ� ƚĞŵĞů� ƉƌŽŐƌĂŵůĂŵĂ� � ŬĂǀƌĂŵůĂƌŦŶŦ� ĞŒůĞŶĐĞůŝ�
ĂŬƟǀŝƚĞůĞƌůĞ� ƂŒƌĞƟǇŽƌƵǌ͘� PŒƌĞŶĐŝůĞƌŝŵŝǌ� DĂŬĞƌ� ĞƚŬŝŶůŝŬůĞƌŝ� ŝůĞ� ĚĞ� ŬĞŶĚŝ�
ďĂƔŦŶĂ�ƺƌĞƚŵĞǇĞ�ĂĚŦŵ�ĂƨǇŽƌ͘ 

<ĂǌĂŶŦŵůĂƌ 
-�^ŦƌĂůĂŵĂ�;^ĞƋƵĞŶĐŝŶŐͿ�ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
-��ƂŶŐƺůĞƌ�;>ŽŽƉƐͿ�ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
-�bĂƌƚůĂƌ�;�ŽŶĚŝƟŽŶĂůƐͿ�ŬĂǀƌĂŵŦŶŦŶ�ƂŒƌĞŶŝƌ�ǀĞ�ĞƚŬŝŶůŝŬůĞƌĚĞ�ƵǇŐƵůĂǇĂďŝůŝƌ͘ 
· �ŶĂŽŬƵůƵ�ďĞĐĞƌŝůĞƌŝŶŝ�ƉĞŬŝƔƟƌŝƌ͘�;zƂŶ�ďƵůŵĂ͕�ƵǌĂŵƐĂůůŦŬ�ǀďͿ 
 
127���g÷UHQF൴�VD\ÕVÕ�\HWHUV൴]�NDOPDVÕ�GXUXPXQGD�DQDRNXOX�YH���VÕQÕI�
|÷UHQF൴OHU൴�E൴UOHúW൴U൴OHFHNW൴U�øON�|QFH�3D]DUWHV൴�J�Q�QH�ND\ÕW�DOÕQDFDNWÕU� 
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.2'/$0$�9(�52%27ø.� 
���YH����6ÕQÕIODU��:('2�6ÕQÕIÕ� 

 
���������������������������������������������� 
 
 
 
 
 

 

 
��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

6$/, ����� 
����� 

���YH��� 
6,1,)/$5 �� 

67(0�	�
0$.(5 
678',2 

3(5ù(0%( ����� 
����� 

���YH��� 
6,1,)/$5 �� 

67(0�	�
0$.(5 
678',2 

&80$ ����� 
����� 

���YH��� 
6,1,)/$5 �� 

67(0�	�
0$.(5 
678',2 

 
0867$)$�
$.7$ù 

 
0(+0(7�$5'$ 

 

���������ĞƌƐůĞƌŝŵŝǌĚĞ�ƂŒƌĞŶĐŝůĞƌŝŵŝǌ�ŝůŬŽŬƵůĚĂ�ŬƵůůĂŶĚŦŒŦ�ƐĞƚůĞƌůĞ�ĚĞƌƐƚĞ�
ŐƂƌĞĐĞŒŝ�ƚĞŵĞů�ĂŬƟǀŝƚĞůĞƌĚĞŶ�ĨĂƌŬůŦ�ŽƌƚĂ�
ǀĞ�ŝůĞƌŝ�ĚƺǌĞǇ�ĕĂůŦƔŵĂůĂƌ�ǇĂƉĂĐĂŬůĂƌĚŦƌ͘ 

<ĂǌĂŶŦŵůĂƌ 
· ^ĞŶƐƂƌůĞƌůĞ�ŝůĞƌŝ�ĚƺǌĞǇĚĞ�ĕĂůŦƔŵĂůĂƌ�

ǇĂƉĂƌ͘ 
· �ĞƚĂǇůŦ�ǀĞ�ĨĂƌŬůŦ�ŵĞŬĂŶŝŬ�ƚĂƐĂƌŦŵůĂƌ�

ǇĂƉĂƌ͘� 
· ;�ĂƌŬůĂƌ͕ĂŬƐůĂƌ͕�ŬĂůĚŦƌĂĕůĂƌ͕�

ŵĂŬĂƌĂůĂƌ͕�ƚĞŬĞƌůĞŬůĞŬůĞƌůĞ�ĚĞƚĂǇůŦ�
ĕĂůŦƔŦƌͿ� 

· �ĂŚĂ�ŬĂƌŵĂƔŦŬ�ŬŽĚĂ�ƐĂŚŝƉ�ƌŽďŽƚůĂƌ�ƚĂƐĂƌůĂƌ͘ 
EKd͗� 
����������-�ĞƌƐŝŶ� ǀĞƌŝŵůŝůŝŒŝ� ĂĚŦŶĂ� ďƵ� ƚĞŬŶŽůŽũŝ� ŽŬƵůƵ� �ƵŵĂ� ŐƺŶƺŶĞ� ŝŬŝ�
ƂŒƌĞƚŵĞŶ� ŝĕŝŶ� ĞŶ� ĨĂǌůĂ� Ϯϰ� ƂŒƌĞŶĐŝ� ĂůŦŶĂĐĂŬƨƌ͘� �Ƶ� ƐĂǇŦĚĂŶ� ĨĂǌůĂƐŦ�
WĞƌƔĞŵďĞ�ǀĞ�^ĂůŦ�ŐƺŶůĞƌŝŶĚĞŬŝ�ƉƌŽŐƌĂŵĂ�ǇƂŶůĞŶĚŝƌŝůĞĐĞŬƟƌ  ͘

����������-zĂƔ� ƐĞǀŝǇĞƐŝ� ŐĞƌĞŒŝ� ϭ͘� ƐŦŶŦĨ� ƂŒƌĞŶĐŝůĞƌŝ� ŬŽĚůĂŵĂ� ǀĞ� ƌŽďŽƟŬ�
ƉƌŽŐƌĂŵŦŶĂ�ĚĂŚŝů��ĞĚŝůŵĞǇĞĐĞŬƟƌ͘� 

����������-�ƵŵĂ� ŐƺŶƺ� ϭϰ͘ϯϬ͛ĚĂŶ� ϭϰ͘ϰϱ͛Ğ� ŬĂĚĂƌ� ƂŒƌĞŶĐŝůĞƌŝŶ� ƚŽƉůĂŶŵĂƐŦ�
ǀĞ�ǇĞŵĞŬ�ŵŽůĂƐŦ�ŝĕŝŶ�ŐĞĕĞŶ�ƐƺƌĞĚŝƌ͘� 
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.2'/$0$�9(�52%27ø.� 
���YH����6ÕQÕIODU��(9���6ÕQÕIÕ� 

 
���������������������������������������������� 
 
 
 
 
 

 

 
��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

3$=$57(ø ����� 
����� 

��-�� 
6,1,)/$5 

781&$<�3(.&$1 �� %ø/*ø6$<$5�
/$%� 

&80$57(6ø ����� 
����� 

��-�� 
6,1,)/$5� 

0867$)$�$.7$ù 
 

0(+0(7�$5'$ 
�� 67(0�	�

0$.(5�/$%� 

 
�����>�'K�ŽƌƚĂŽŬƵů�ƐĞƟ�ŽůĂŶ��sϯ͛Ğ�ŐŝƌŝƔ͘�
KŬƵůƵŵƵǌĚĂ�ƂŒƌĞŶĐŝůĞƌŝŵŝǌ�ϱ͘ƐŦŶŦŌĂ�
ŐƂƐƚĞƌŝůĞŶ��sϯ�ƐĞƚůĞƌŝŶĞ�ŐŝƌŝƔ�ǇĂƉŦƉ���sϯ�
ƌŽďŽƚƵŶƵŶ�ƚĞŵĞůůĞƌŝŶŝ�ƂŒƌĞŶĞĐĞŬůĞƌ͘ 
 
<ĂǌĂŶŦŵůĂƌ 

 
· �s�ϯ�ŝůĞ�ƐŦƌĂůĂŵĂ�;^ĞƋƵĞŶĐŝŶŐͿ�

ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ďƵŶůĂƌŦ�ƵǇŐƵůĂƌ͘ 
· �s�ϯ�ŝůĞ��ƂŶŐƺůĞƌ�;>ŽŽƉƐͿ�ŬĂǀƌĂŵŦŶŦ�ƂŒƌĞŶŝƌ�ǀĞ�ƵǇŐƵůĂƌ͘ 
· �s�ϯ�ŝůĞ�ƔĂƌƚůĂƌ�;�ŽŶĚŝƟŽŶĂůƐͿ�ŬĂǀƌĂŵŦŶŦŶ�ƂŒƌĞŶŝƌ�ǀĞ�ƵǇŐƵůĂƌ͘ 
· �s�ϯ�ƐĞŶƐƂƌůĞƌŝ�ŝůĞ�ďĂƐŝƚ�ĚƺǌĞǇĚĞ�ĕĂůŦƔŵĂůĂƌ�ǇĂƉĂƌ͘ 

EKd͗ 

����������������-zĂƔ�ƐĞǀŝǇĞƐŝ�ŐĞƌĞŒŝ�Ϯ͘ǀĞ�ϯ͘ƐŦŶŦĨ�ƂŒƌĞŶĐŝůĞƌŝ�ďƵ�ƉƌŽŐƌĂŵĂ�ĚĂŚŝů�
ĞĚŝůŵĞǇĞĐĞŬƟƌ͘ 
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0$.(5�9(�$5'8ø12 
�������6ÕQÕIODU� 

 
���������������������������������������������� 
 
 
 
 
 

 

 

������.RGODPDQÕQ�HOHNWURQ൴N�GHYUHOHU൴\OH�E൴UOHú൴P൴��$UGX൴QR 
|÷UHQF൴OHU൴Q�EDV൴W�NRGODUOD�HOHNWURQ൴N�GHYUHOHU൴Q൴�SURJUDPODPD\Õ�
|÷UHQPHV൴�YH�EXQODUOD�SURMHOHU��UHWHE൴OPHV൴�൴o൴Q�WDVDUODQPÕúWÕU� 

.D]DQÕPODU 
 
· �$UGX൴QR�NDUWÕ�EDúWD�ROPDN��]HUH�WHPHO�HOHNWURQ൴N�GHYUH�

HOHPDQODUÕQÕ�WDQÕU� 
· �7HPHO�\D]ÕOÕP�E൴OJ൴V൴QH�VDK൴S�ROXU� 
· �7HPHO�\D]ÕOÕP�E൴OJ൴V൴\OH�$UGX൴QR�SURMHOHU൴Q൴�\DSDU�� 

 

 

��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

^�>/ 
ϭϲ͘ϬϬ 
ϭϳ͘ϮϬ 

ϰ-ϱ-ϲ͘�
^/E/&>�Z 

dhE��z�W�<��E ϭϮ D�<�Z�^W��� 
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02'(/�8d$.�$7g/<(6ø 
�7�P�6ÕQÕIODU� 

 
���������������������������������������������� 
 
 
 
 
 

 

 

������0RGHO�XoDN��XoDQ�FඈVඈPOHUඈQ�D\UÕQWÕODUÕQD�ඈQHUHN�YH�|OoHNOHQGඈUHUHN�
ROXúWXUXOPXú�KDOOHUඈGඈU��g÷UHQFඈOHUඈPඈ]�HO�EHFHUඈOHUඈQඈ�JHOඈúWඈUHUHN��XoDNODUÕQ�
XoXú�SUHQVඈSOHUඈQඈ�YH�DHURGඈQDPඈN�JඈEඈ�NRQXODUGD�EඈOJඈ�VDKඈEඈ�RODFDNWÕU��
0RGHO�XoDN�ඈ\ඈ�EඈU�KREඈ�ROPDQÕQ�\DQÕ�VÕUD��XoXú�SUHQVඈSOHUඈQඈ�GDKD�ඈ\ඈ�
DQODPD\D�\DUGÕPFÕ�EඈU�DUDoWÕU� 

0RGHO�XoDN�KDYDFÕOÕ÷ÕQ�WHPHOඈGඈU��EX�QHGHQOH�KDYDFÕOÕ÷D�ඈOJඈ�GX\DQ�
oRFXNODUÕPÕ]�HUNHQ�\DúWD�PRGHO�XoDN�\DSÕPÕ�NRQXVXQGD�ND]DQÕPODU�HOGH�
HGHFHNOHUGඈU�� 
+Õ]OD�JHOඈúHQ�WHNQRORMඈ��|Q�P�]H�\HQඈ�RODQDNODU�VXQX\RU��EX�GD�
oRFXNODUÕPÕ]Õ�ED]HQ�J�QO�N�KD\DWWDQ�X]DNODúWÕUÕ\RU��g÷UHQFඈOHUඈPඈ]H�
5RERWඈN�YH�.RGODPD�HWNඈQOඈNOHUඈQඈQ�\DQÕ�VÕUD�J�]HO�EඈU�KREඈ�ND]DQGÕUPDN�YH�
KDYDFÕOÕN�VHYGDVÕQÕ�RQODUÕQ�JHQo�\�UHNOHUඈQH�DúÕODPDN�ඈVWHPHNWH\ඈ]� 

-�ƵŵĂ�ŐƺŶƺ�ϭϰ͘ϯϬ͛ĚĂŶ�ϭϰ͘ϰϱ͛Ğ�ŬĂĚĂƌ�ƂŒƌĞŶĐŝůĞƌŝŶ�ƚŽƉůĂŶŵĂƐŦ�ǀĞ�
ǇĞŵĞŬ�ŵŽůĂƐŦ�ŝĕŝŶ�ŐĞĕĞŶ�ƐƺƌĞĚŝƌ͘� 

��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

ϭ͘�'ZhW 
��Zb�D�� 

ϭϲ͘ϬϬ 
ϭϳ͘ϮϬ 

dmD�
^/E/&>�Z 

dhE��z�W�<��E ϭϮ D�<�Z�^W��� 

Ϯ͘'ZhW 
�hD� 

ϭϰ͘ϰϱ 
ϭϲ͘ϭϱ 

dmD�
^/E/&>�Z 

dhE��z�W�<��E ϭϮ D�<�Z�^W��� 
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2<81�7$6$5,0�$7g/<(6ø 

 
���������������������������������������������� 
 
 
 
 
 

 

 

������ 

��>/bD��'ZhW>�Z/� 

'mE>�Z ^��d 
z�b��

'Zh�h 
'PZ�s>7�

P)Z�dD�E 
P)Z�E�7�
^�z/^/ 

�d<7E>7<�z�Z7 

&80$57(6ø ����� 
����� 

�-�-���
6,1,)/$5 

0(+0(7�$5'$ �� %ø/*ø6$<$5�
/$%� 

6FUDWFK�� SURJUDPODUÕQÕ]Õ� J|UVHO� RODUDN� \D]DE൴OHFH÷൴Q൴]� E൴U� SURJUDPODPD�
G൴O൴G൴U�� 6FUDWFK� ൴OH� SURJUDPODPD� |÷UHQPHN� KHP� EDV൴W� KHP� GH� ]HYNO൴G൴U��
6FUDWFKெGD�NRG�\D]PDN� ൴o൴Q�EORNODUÕ�NXOODQÕUÕ]��%ORN� V൴VWHP൴�V�U�NOH�EÕUDN�
\|QWHP൴QH� GD\DQGÕ÷Õ� ൴o൴Q� SURJUDPODUÕQÕ]Õ� KÕ]OÕ� YH� NROD\� E൴U� úHN൴OGH�
ROXúWXUDE൴O൴UV൴Q൴]�� 6FUDWFKெGD� R\XQ� SURJUDPODPDN� OHJR� R\QDPD\D� EHQ]HU��
/HJR� R\XQXQGDN൴� J൴E൴� EORNODUÕ� E൴UOHúW൴U൴UV൴Q൴]�� (÷HU� GR÷UX� EORNODUÕ�
E൴UOHúW൴U൴UVHQ൴]�RUWD\D�oRN�J�]HO�E൴U�SURJUDP��DQ൴PDV\RQ�YH\D�R\XQ�oÕNDU� 
 
.D]DQóP�+HGHȵHUL� 

· 3URJUDPODPD�NDYUDPODUó�LOH�WDQóġPDODUóQó�VDáODPDN��GHáLġNHQOHU��
NRġXOODU��G¸QJ¾OHU� 

· 0DWHPDWLNVHO�LġOHP�EHFHULVLQL�JHOLġWLUPHN� 

· +D\DO�J¾F¾Q¾�NXOODQDUDN�WDVDUóP�\DSDELOPHOHULQL�VDáODPDN� 
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�,,��'g1(0�7(.12/2-ø�2.8//$5,�.856�+$)7$/$5, 

���+$)7$� 

���–����ù8%$7����� 

���+$)7$ 

���-����ù8%$7������ 

���+$)7$ 

���-����0$57����� 

���+$)7$ 

��-���0$57����� 

���+$)7$ 

��-���0$57����� 

���+$)7$ 

���-����0$57����� 

���+$)7$ 

���0$57-����1ø6$1 

����� 

���+$)7$ 

��-���1ø6$1������ 

���+$)7$ 

���-����1ø6$1������ 

����+$)7$ 

���1ø6$1�-����0$<,6�

����� 

����+$)7$ 

���-���0$<,6����� 

����+$)7$ 

���-����0$<,6������ 

����+$)7$ 

���-����0$<,6����� 

����+$)7$ 

���-����0$<,6������ 

����+$)7$ 

��-����+$=ø5$1����� 

$d,./$0$/$5 
· dHú൴WO൴�VHEHSOHUGHQ�GROD\Õ�GHUV�൴SWDO൴�ROXúPDVÕ�GXUXPXQGD�WHODI൴�GHUVOHU൴�

\DSÕODFDNWÕU�� )DNDW� 0൴OO൴� (÷൴W൴P� %DNDQOÕ÷ÕQÕQ� UHVP൴� WDW൴O� ൴ODQ� HWW൴÷൴� YH�
|÷UHQF൴Q൴Q�GHYDPVÕ]OÕN�\DSWÕ÷Õ�J�QOHUGH�µ7HNQRORM൴�2NXOODUÕ¶�GHUV�WHODI൴V൴�
\DSÕOPD\DFDNWÕU� 

* ���-����1৻VDQ�$UD�7DW৻O�+DIWDVÕ�--����$UD�7DW৻O� 
* ��� 1৻VDQ� 8OXVDO� (JHPHQO৻N� YH� dRFXN� %D\UDPÕ� QHGHQ৻� .Õú� 2NXOX�

\DSÕOPD\DFDNWÕU� 
* ��� 0D\ÕV� &XPD� J�Q�� øúo৻� YH� (PHNo৻� %D\UDPÕ� QHGHQ৻� .Õú� 2NXOX�

\DSÕOPD\DFDNWÕU�� 
* ���0D\ÕV�$U৻IH� -���-����-����0D\ÕV������5DPD]DQ�%D\UDPÕ�QHGHQ৻�৻OH�.Õú�

RNXOX�\DSÕOPD\DFDNWÕU�� 
· ,,�� '|QHP� 7HNQRORM൴� 2NXOODUÕPÕ]� ��� KDIWD� ��� GHUV� VDDW൴� RODUDN�

X\JXODQDFDNWÕU� 
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